Area under the curve:

Question 1:( JEE Main 2019)

The area of the region
Az[[x,}'}:ﬂiy <x|x|+land -1<x< I] in
8. units, 1s :
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Question 2: ( JEE Main 2019)

The area (in sq. units) of the region
A=[ix,y) eRxRI0ex<3, 0=y <4,
y<x2+3x}is:

Sol:

Required Area
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Sol:

The graph is a follows
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Question 3: ( JEE Main 2019 )

The area (in sq. units) of the region bounded

quadrant is
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Sol:

Required Area
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Question 4: (JEE Main 2019)

If the area (in sq. units) of the region
fxy):v?€d, x+y<lLx20,y20)is

an'E+I:-,then a—bis equal to :

(3)6 (4) -

| b

3 10
(llg {2]?

Sol:
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by the curves y =2*and y =Ix + 1, in the first Y,
adrant is * =t 1 /{l,za
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Question 5: (JEE Main 2019 )

If the area (in sq. units) bounded by the
parabola y?

=4Ax and the line y = Ax, L >0,
|
15 9 then A is equal to :
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Question 6: (JEE Main 2019)

Let S{a) = {(x.y) :j,f2 <x, 0<x<a)and A(w)
is area of the region S(a). If forad, 0< A <
4, A(L) : A(4) =2 : 5, then A equals
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Question 7: ( JEE Main 2019 )

The area (in sq. units) bounded by the parabola
y = x? — 1, the tangent at the point (2, 3) to it
and the y-axisis :
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Sol:

S(o) = {(xy): y* <x,0<x <}
o) = zj'ﬂdx —2a""
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Sol:

Equation of tangent at (2,3) on
y=x2-1,isy=(4x-5) i)
. Required shaded area

= ar (AABC) —j:-.,hr+l dy
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